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7XJDV�$NKLU�LQL�GLSHUVHPEDKNDQ�XQWXN��

�� .HGXD�RUDQJ�WXD�GDQ�NHOXDUJD�WHUVD\DQJ��3DSDK�7DWDQJ�6XU\DQD�GDQ�,EX�

1HQHQJ� 6LWL� 0XO\DWL�� GDQ� NHGXD� $GLN�� =KDQLD� *LQDGD� GDQ� =DQLND�

*HUDOGD WHODK� PHPEHULNDQ� GXNXQJDQ� PRULO� GDQ� PDWHULO NHSDGD� SHQXOLV�

GDODP�SHQ\HOHVDLDQ�7XJDV�$NKLU�LQL�

�� 7HPDQ�WHPDQ�VHSHUMXDQJDQ�NHODV�7,�������\DQJ�VHODOX�EHUVDPD�PXODL�GDUL�

IDVH�PDKDVLVZD�EDUX�KLQJJD�PDKDVLVZD�WLQJNDW�DNKLU�

�� .HOXDUJD�EHVDU�/DERUDWRULXP�3URVHV�0DQXIDNWXU� \DQJ� WHODK�PHPEHULNDQ�

GXNXQJDQ�VHODPD�LQL�

�� $QJJLW�3UDWDPD�VHEDJDL�WHPHQ�NHORPSRN�7$�\DQJ�VHODOX�EHULNDQ�VXSSRUW�

GDQ�EDQWXDQ�GDODP�PHQ\HOHVDLNDQ�7XJDV�$NKLU

�� 1DGLD�1DMPL�+DIVDUL�\DQJ�VHODOX�PHPEHULNDQ�VHPDQJDW��VXSSRUW�GDQ��GRD�

NHSDGD�SHQXOLV�GDODP�PHQ\HOHVDLNDQ�7XJDV�$NKLU

�� 'DQ� VHPXD� WHPDQ�WHPDQ� GDQ� RUDQJ�RUDQJ� \DQJ� WHODK� PHQGRDNDQ� GDQ�

PHQGXNXQJ�SHQXOLV�KLQJJD�PDPSX�PHQ\HOHVDLNDQ�WXJDV�DNKLU�LQL�


